
1) Decrease 129 by 3/43

Answer: ____________

2) 1   5/8 - 2   3/8

Answer: ____________

3) 4/9 x 8/10

Answer: ____________

4) 12/4 - 11/5

Answer: ____________

5) 16/9 x 62/3

Answer: ____________

6) 12/3 x 33/5

Answer: ____________

7) 13/10 x 12/6

Answer: ____________

8) 6   6/8 - 3   7/10

Answer: ____________

9) Convert the following improper 
fraction 31/5 + 31/2 into a mixed 
number

Answer: ____________

10) 4/17 of 85

Answer: ____________

11) 4/45 of 135

Answer: ____________

12) 4/2 + 7/11

Answer: ____________

13) Increase 234 by 1/39

Answer: ____________

14) 12/2 - 3/6

Answer: ____________

15) Increase 220 by 1/55

Answer: ____________
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16) Increase 32 by 1/16

Answer: ____________

17) Decrease 120 by 1/20

Answer: ____________

18) 12/10 - 10/9

Answer: ____________

19) 3/2 + 5/7

Answer: ____________

20) 41/4 ÷ 43/6

Answer: ____________

Total: ___ / 20
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Answers:

1) 120 2) 13/4 3) 16/45 4) 4/5 5) 111/9 6) 6 7) 23/5

8) 31/20 9) 67/10 10) 20 11) 12 12) 27/11 13) 240 14) 51/2

15) 224 16) 34 17) 114 18) 4/45 19) 23/14 20) 17/18
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